CN

t-Tutd

-
-

ARmFMERIREEEE CY JEEECHTER

[CHENET. s m
{BUIEEE25,30AIMRITHVPII/\ Y RE T {ER $5
<L (P.B18HR) A
ORERRIE. 2—) —MERALTVET,
(P.7485)
200ALIEIFHhRICE ED DNV FARSIIREIE 1D
7.
RO XyF90A. ATV U A125AL ElFZA—/\— e
M&A TTldEBbEE Ao N
ABD( YR FIRINRARICIEDET, 2 B
( YRHREFRFVLUABROHDTT . BEE
; BT
('; =
| #8 | 2=500) [ FIxv*@) [ 257ULRE) | £
| m® | HSB | zHsB | sHsB | r;
FI7
y FOE | @S | wE | wEt | @ W | S
i A | BE | W U|Z S BN SR PAuz]s |z
HSB10® # 10 | 17.3 - 160
HSB15® # 15 | 217 180(10) ; 5
HSB20® # 20 27.2 160(10) g
HSB25® # 25 | 340 1.8 45 160(10) =
HSB32D # 32 | 427 12 140(10) / %
HSB40® # 40 | 486 | 25 20 M6x22 20 [120(10) 13
HSB50 @ # 50 | 605 100(10) F
HSB65® # 65 | 763 90(10) [
HSB80 @ # 80 | 89.1 80(10) I3
HSB90® # 90 | 1016 23 8 S 70010 | * ¥
HSB100 ® # 100 | 1143 70(10) 7§5§
HSB125® ¢ 125 | 139.8 25 =/
HSB150 @ # 150 | 1652 | a2 (32|32 | MIOXWIOX30) | o ol o7(05) 20 =7
HSB200 @ # 200 | 216.3 30| M10X39(M10x30) 20 x
HSB250 # 250 | 2674 | 38(50) |, .| 45" M12x35 10 3
HSB300 # 300 | 3185 | .o |70 " 78 35 5 x
HSB350 # 350 | 355.6 5 »

# X—UDIZIOFROHSHIDEFDE S o (FTXWFFROHSHINTIFHOEEAve)

™y
¥z
INZ
('S
— L
AR R AIRESETY. A FERRICE S TY T IV F v NEEEHIEDEToTIIEE L, 7
JXYRAEIC 1 ORI AEBUG 3 TLET . EIa
StBHRT L BRIEERDET . [ #8 | 1=000) | FI%v*@) | Z7LAE) | 7y
BRI LM EIE EPTTY | & | HSB | zHsB | SHSB | 7|-7|3
FUR | @5 | RiE RE t AN | HWEAREER
HE A | B |W U|z|s| BN c P M 7% (¢
HSB15B10 15 21.7 150 % | % 1
HSB20B10 20 27.2 120 e S
HSB25B10 25 34.0 o0 (B0 100 % | % 5
HSB32B10 32 427 VeV e 120 % | % 3
HSB40B10 40 486 | 25 M6X20 45 20 100 E E4
HSB50B10 50 60.5 80 % | % ng;\'
HSB65B10 65 76.3 50 % | % w2
HSB80B10 80 89.1 23|23 |28 40 % | % # ¥
HSB100B10 100 | 114.3 30 | % 7%;2
HSB125B10 125 | 139.8 20 | x| x| = :
HSB150B10 150 | 1662 | °2 |30|80]380) Mex25 [ 60 | 25 15 x| % | % siE

(g4 75





